= -
o .

D 11=Xt (0

e

03
%

!
00

Ct.

U <+
IE| —_
) g
1o R
Al
5

2 o
2|7

J
ol K21

* N,
201Dl =2

9 2%t
BHEHOHE

e

2
v

00122 &t

==d A0l p

[ ()
0l
&< I

n &

— I

ATe)
K
Oz

Ko ol

Mz X5d W20ICH

@ ZHAIAS0A RI1aH2H0

. o

oI
RO

Rr

o)

K

i
OF

0

J)

-

AJlaf&20letd ettt

o)

RO
n0

™

SHCH

oA

17
a

Z Durbin-Watson S|

ct&0l AULCH

-
ol
A

1
o8

oK
K0

go
R

0l

i0J

Hr

0l

0
™

ol [N
i) o}
= R
w 1) KJ
) = M
5
c SlTS)
2 O o
c ® g
=N mat
| =
o S Bl
] o __
2w Ss
S ACISICRS)

h

C

il CH

I

=

Hlb S

=1
—

2]

—

=

5. Cochrane-Orcutt ™
1 Paris—Winstern

Cochrane—Orcutt Bt= & X10|C}.

=X
T— o

6 .
010 0 ]

—_

© w2
%o "©
< Kk Kho
OF 3

RO 20

03 R0 =
[[e]
= U &o

ol H Kk
v -

QU QU X

SACAS)

A== ZF F JHQION?

HOF &

0

=3

CHS SHANA =

—

—

)M

6. Ourbin2 2EA F=EBHS LIEHUN

(

12 E8otet. ©, consume= AHl, gdp

HA

J

i)
ol

g0
Rl

~
un

.

= (S FEZ

LHEHHCE.

1x

—

—

)

ol ACH" (

5

F

11X X

)

HOIIA & (+)2

3.12250|C+" (

o

—

)

HEel gt

'ODW ZE0 OE 2 5%

‘M BE OE R 10% |2A=+=E ot0A 1XH XJI&201 UK 5% === otUlA
Xol&201 ettt (
® AR @ F

7.
8.



> consume<-ts(samplel_daticonsume, start=c({1995.1}, freguency=4)
> gdp<-ts(samplel_dat3gdp, start=c{1995.1), frequency=4)
>

> ols.res<-1m{consume~gdp)
> summary(ols.res)

call:
Im{(formula = consume ~ gdp}

Residuals:
Min 10 Median 3Q Max
-3879.8 -1342.8 163.6 1166.1 4532.2

Coefficients:

Estimate std. Error t value Pri=|t|)
{(Intercept) 2.303e+04 4.981e+03 4,624 0.000119 =
gdp 3.997e-01 4.714e-02 8.479 1. 56e-08 %#*

signif. codes: O “***! 0,001 "**' 0,01 **' 0.05 *.' 0. * ' 1

Residual standard error: 2047 on 23 degrees of freedom
Multiple R-squared: 0.75376, Adjusted R-squared: 0.7471
F-statistic: 71.8% on 1 and 23 DF, p-value: 1.561e-08

= res<-resid(ols.res)
> res.t<-ts{res)
> dwtest{ols.res)

purbin-watson test

data: ols.res
DW = 1.2273, p-value = 0.01178
alternative hypothesis: true autocorrelation is greater than 0

> nz-length{res}

> Tres.t<-ts(append(res.t[1:24], 0, after=0})
> res, aux<-Im(res.t~gdp+Ires.t)

> summary{(res.aux)

call:
Im{formula = res.t ~ gdp + Ires.t)

Residuals:
Min 10 Median 3Q Max
-4903 -1135 -195 1202 3991

coefficients:
Estimate std. Error T value Pr{=|t|)
(Intercept) 4.041e+02 4.770e+03 0.085 0.9332

gdp -4.151e-03 4.515e-02 -0.092 0.9276
Tres.t 3.641e-01 2.055e-01 1.772 0.0903 .
Signif. codes: @ "e&*=l g Qo1 "*+" g.p1 ‘%" 0.05 "LV 0.3 Y 1%

Residual standard error: 1958 on 22 degrees of freedom
Multiple R-squared: 0.1249, Adjusted R-squared: 0.04532
F-statistic: 1.57 on 2 and 22 DF, p-value: 0.2305

> Im<-n*summary(res. aux)$r.squared
> (pchisq{lm, df=1, Tower.tail=F))
[IJ 0. 07724137



